Question 1: which 10 species have no gall bladder?

Answer: rats, multi*mammate rats, Chinese hamsters, pigeons, peccaries, deer, horses, camels, elephants, cetaceans

Question 2: which 3 mammalian species cannot vomit?

Answer: rats, rabbits, horses

Question 3: which 6 species have seasonal testicular enlargement?

Answer: Callitrichids, squirrel monkeys, European hamsters, ferrets, reptiles, cetaceans

Question 4: what is the dental formula for rodents?

Answer: 2 x (1/1 I, 0/0 C, 0/0 P, 3/3 M) = 16

Question 5: what is the dental formula for guinea pigs? 

Answer: 2 x (1/1 I, 0/0 C, 1/1 P, 3/3 M) = 20

Question 6: what is the dental formula for rabbits?

Answer: 2 x (2/1 I, 0/0 C, 3/2 P, 2 or 3/3 M) = 26-28

Question 7: what is the dental formula for cats? 

Answer: 2 x (3/3 I, 1/1 C, 3/2 P, 1/1 M) = 30
Question 8: what is the dental formula for ruminants?

Answer: 2 x (0/3 I, 0/1 C, 3/3 P, 3/3 M) = 32

Question 9: what is the dental formula for ferrets?

Answer: 2 x (3/3 I, 1/1 C, 4/3 P, 1/2 M) = 36

Question 10: what is the dental formula for dogs?

Answer: 2 x (3/3 I, 1/1 C, 4/4 P, 2/3 M) = 42

Question 11: what is the dental formula for horses?

Answer: 2 x (3/3 I, 1/1 C, 3 or 4/3 P, 3/3 M) = 40-42,
Question 12: what is the dental formula for pigs?

Answer: 2 x (3/3 I, 1/1 C, 4/4 P, 3/3 M) = 44

Question 13: what is the dental formula for new-world non-human primates?

Answer: 2 x (2/2 I, 1/1 C, 3/3 P, 3/3 M) = 36

Question 14: what is the dental formula for Callitrichids?

Answer: 2 x (2/2 I, 1/1 C, 3/3 P, 2/2 M) = 32

Question 15: what is the dental formula for old world primates?

Answer: 2 x (2/2 I, 1/1 C, 2/2 P, 3/3 M) = 32

Question 16: what is the dental formula for great apes?

Answer: 2 x (2/2 I, 1/1 C, 2/2 P, 3/3 M) = 32

Question 17: what is the dental formula for humans?

Answer: 2 x (2/2 I, 1/1 C, 2/2 P, 3/3 M) = 32

Question 18: what is the dental formula for possums?

Answer: 2 x (5/4 I, 1/1 C, 3/4 P, 4/4 M) = 56

Question 19: what is the dental formula for armadillos? 

Answer: 2 x (0/0 I, 0/0 C, 0/0 P, 8/8 M) = 32

Question 20: which 7 species have lisencephaly as a normal feature?

Answer: rats, prosimians, Callitrichids, squirrel monkeys, duckbilled platypus, some marsupials, and bats

Question 21: how many lung lobes in snakes?

Answer: 1 on the right, 1 on the left
(note: only the right lung lobe is functional in snakes)
Question 22: how many lung lobes in horses?

Answer: 3 on the right, 2 on the left
Question 23: how many lung lobes in Pinnipeds?

Answer: 3 on the right, 3 on the left

Question 24: how many lung lobes in mice?

Answer: 4 on the right, 1 on the left

Question 25: how many lung lobes in rats?

Answer: 4 on the right, 1 on the left

Question 26: how many lung lobes in rabbits?

Answer: 4 on the right, 2 on the left

Question 27: how many lung lobes in ruminants?

Answer: 4 on the right, 2 on the left

Question 28: how many lung lobes in pigs?

Answer: 4 on the right, 2 on the left

Question 29: how many lung lobes in dogs?

Answer: 4 on the right, 2 on the left

Question 30: how many lung lobes in ferrets?

Answer: 4 on the right, 2 on the left

Question 31: how many lung lobes in guinea pigs?

Answer: 4 on the right, 3 on the left

Question 32: how many lung lobes in hamsters?

Answer: 5 on the right, 1 on the left

Question 33: which 9 mammalian species have an os penis?

Answer: mice, multimammate mice, rats, white-tailed rats, guinea pigs, ferrets, dogs, Pinnipeds, some non-human primates

Question 34: how many toes on the rat kangaroo?

Answer: 3 in the front, 3 in the rear

Question 35: how many toes on the guinea pig?

Answer: 4 in the front, 3 in the rear

Question 36: how many toes on the rock hyrax?

Answer: 4 in the front, 3 in the rear

Question 37: how many toes on the nutria?

Answer: 4 in the front, 5 in the rear

Question 38: how many toes on the degu?

Answer: 4 in the front, 5 in the rear

Question 39: how many toes on the armadillo?

Answer: 4 in the front, 5 in the rear

Question 40: how many toes on the rabbit?

Answer: 5 in the front, 4 in the rear

Question 41: how many toes on most animal species?

Answer: 5 in the front, 5 in the rear

Question 42: which 3 mammalian species have a pendulous penis?

Answer: bats, bears, primates

Question 43: which 2 mammalian groups have a 4 compartment stomach?

Answer: ruminants, and cetaceans

Question 44: which 3 species have no cecum?

Answer: ferrets, snakes, and odontocetes (which are the toothed whales, including sperm whales, dolphins, and killer whales)

Question 45: which animal group has 2 ceca?

Answer: birds

Question 46: which 2 animal groups have gizzards?

Answer: birds, and crocodiles

Question 47: which mammalian species has no prostate?

Answer: ferrets

Question 48: which mammalian species has no seminal vesicles?

Answer: ferrets

Question 49: which 3 animal groups have no urinary bladder?

Answer: snakes, crocodiles, and birds

Question 50: which 2 animal groups have hemipenes?

Answer: snakes, and lizards

Question 51: which 2 animal groups have sacculate ovaries?

Answer: snakes, and lizards

Question 52: which 3 animal groups have no external ear openings?

Answer: snakes, some lizards, and turtles

Question 53: which rodent species is the only rodent that seasonally changes color?

Answer: collared lemming

Question 54: which species has no kuppfer cells?

Answer: fish

Question 55: which 2 mammalian species have young that hang on their nipples?

Answer: Syrian hamsters, and wood rats, a.k.a. pack rats

Question 56: which mammalian species has 2 thymus glands?

Answer: degus
Question 57: what is the bregma?

Answer: the intersection of sagittal and coronal sutures

Question 58: what is the lambda?

Answer: the intersection of sagittal and lambdoidal sutures

Question 59: which 4 mammalian species have an orbital sinus?

Answer: mice, rabbits, hamsters, chinchillas

Question 60: which 5 mammalian species have an orbital plexus?

Answer:  rats, gerbils, guinea pigs, ferrets, gray short-tailed opossums

Question 61:  what type of secretions come from the parotid salivary glands?

Answer:  serous

Question 62:  what type of secretions come from the submandibular salivary glands?

Answer:  mixed

Question 63:  what type of secretions come from the sublingual salivary glands?

Answer:  mucous

Question 64:  what are the two lachrymal glands?

Answer: the exorbital, and the intraorbital

Question 65:  how many pairs of mammary glands in mouse?

Answer:  five pairs; three pairs are cervicothoracic, two pairs are inguinoabdominal,
Question 66:  how many pairs of mammary glands in the rat?

Answer:  six pairs; three pairs are cervicothoracic, three pairs are inguinoabdominal,
Question 67:  which amphibian lacks a tongue?

Answer:  Xenopus laevis
Question 68:  what is the anticlinal vertebrae in the dog?

Answer:  T-11, the 11th thoracic vertebrae

Question 69:  the presence of what bone in the zygomatic arch of the guinea pig classifies it as a, histricomorph? 

Answer:  jugal bone

Question 70:  which group of vertebrates lacks keratin in their skin?

Answer:  fish

Question 71:  what structure allows cetaceans to hear?

Answer:  the mandible

Question 72:  what are the 6 paired accessory sex glands of the male mouse?

Answer:  preputial, prostate, bulbourethral, ampullary, seminal vesicles, coagulation glands

Question 73:  what are the correct terms of the top and bottom sections of a turtles shell?

Answer:  the top is called the carapace; the bottom is called the plastron

Question 74:  which animal has no cecum, no appendix, no prostate, and no seminal vesicles?

Answer:  the ferret

Question 75:  which cells in the lungs secrete surfactant?

Answer:  type II pneumocytes

Question 76:  what is the active ingredient in surfactant that is secreted by type 2 pneumocytes in the lungs?

Answer:  dipalmitoyl lecithin
Question 77:  what is the name of the gland located in the nasal area that helps to humidify the air as well as regulate the viscosity of the mucous layer overlying the nasal epithelium?

Answer: Steno's gland

Question 78: Which animals have no diaphragm?

Answer: reptiles

Question 79: Which animals have no mandibular symphasis?

Answer: snakes

Question 80: Can you identify the one reptile that has lymph nodes?

Answer: the snapping turtle

Question 81: Can you name two hermaphroditic creatures?

Answer: the giant land slug, and the giant leach

Question 82: can you name 2 species that have all their hair in 1 growth stage at a time?

Answer: rats, and mice

Question 83: can you name a species that has all of its hair in all 3 growth stages at a time?

Answer: the rabbit

Question 84: can you name a species that has continuous hair growth instead of stages of hair growth?

Answer: the guinea pig

Question 85: can you name 5 species that have heterophils?

Answer: guinea pigs, hamsters, rabbits, ring-tailed lemurs, and elephants

